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Instructions :

1. The Question Paper is divided in five Units. Each Unit carries an internal

choice.
Attempt one question from each Unit. Thus attempt five questions in all.
All questions carry equal marks.

Assume suitable data wherever necessary.

A

English version should be deemed to be correct in case of any anomaly in

translation.

6. Candidate should write his/her Roll Number at the prescribed space on the

question paper.
oA |
(Unit I)
1. (a) Database system % architecture 1 THSEI | 10

Describe the architecture of database system.

P.T.O.



(®)

2. (a)
(b)
3. (a)
(b)
4. =

Database systems o file systems ¥ oAl &I | 10

Compare database systems with file systems.

Agar

(Or)
d entities % HEI B A U@ relations & TRR dad | fRH  table
¥ fe& T relation binary relation ¥, &9 M@ ®HA ? 10

List the possible types of relations that may exist between two entities.

How would you realize that into table for a binary relation ?

ER diagram # develop Hd THT HH-HMT  issues B4 &, THIEA 110

IMlustrate the issues to be considered while developing an ER diagram. 10

s 11
(Unit II)

Normalization 1 & ? Relational schema % faf¥= YR & forms N

g, Jazd 9 Sfud SRS TRl ¥ U relation sAEY ST BCNF # @110

What is normalization ? Give the various forms of relational schema and

define a relation which is BCNF and explain with suitable example.
(i) Multivalued dependency =1 & ? 5
What is multivalued dependency ?
(ii) BCNF & g1 3 NF 9 i | 5
Compare BCNF versus 3 NF.
AT

(Or)

relational database 1 wifSd 20

Consider the relational database :

Employee (empname, street, city)

4009



Works (empname, companyname, salary)

Company (companyname, city)

Manager (empname, managername)

Relational algebra o SQL 1 SWIN & 991  queries 1 IW <IN

Use Relational algebra and SQL to answer the following queries :

(@)

(i7)

(111)

(tv)

4009

3 employees @1 IH A Hied S First Bank Corporation & To& EAp]
CaGEE S
Find the names of all employees who work for First Bank Corporation.

3 WR  employees W M, street addresses I cities of residence @ Hits™

S First Bank Corporation & fo& w4 wd T g et yearly income

300000 ¥ FIW T |

Find the names, street addresses, and cities of residence of all employees
who work for First Bank Corporation and earn more than 3,00,000 per

annum.

3 G employees &I H AN DA samecityﬁ@%aﬁw
T aw f@ ww & fad wd w@ T

Find the names of all employees in this database who live in the same

city as the company for which they work.

3 TR employees &1 TH F@ hifed S Small Bank Corporation & W&

employee ¥ IR earn A R

Find the names of all the employees who earn more than every employee

of Small Bank Corporation.
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(Unit III)

5. ™= =1 9ummsy 20

Explain the following :

(@)
(i1)
6. (a)
(b)
7. (a)
(b)
4009

Heuristic algorithm for query optimization
Query evaluation.
AT
(Or)
Distributed database system @ architecture THSEI | 10
Explain the architecture of distributed database system.

Distributed database & f&¥ commit protocols W 319 4T AT T ?

BEEIERE 10
What do you mean by commit protocols for distributed database ?
Explain.

e IV

(Unit IV)
e & o= s wHEEd 10

Differentiate between the following terms :
(@) DDL and DML

(i1) Grant and Revoke

Nested queries F1 & ? SO &1 He@Edl 4 9HEY | 10

What are nested queries ? Explain with example.



YT

(Or)

8. frd 10 SQL functions o 3fud TR0 +1 WA ¥ THIED | 20

Explain any 10 SQL functions by taking suitable example.

9. (a)

(®)

10. (a)

(®)

4009

THE V

(Unit V)

o

Triggers @1 THSEd | 3fad QRO &t HeEal 9 wwemed fe fodl  database

| changes &1 X trigger fh9 U&R powerful mechanism offer F@E 110

Discuss about triggers. How do triggers offer a powerful mechanism for

dealing with the changes to a database with suitable example.

Concurrency control 1 § ? 38 DBMS #H ff¥ U#R implement &1 S
g 7 wAEmEd| 10
What is concurrency control ? How is it implemented in DBMS ? Explain.
AT
(Or)

Oracle ¥ locking concept ¥ 3TU M THIJ T 7 THIMA | 10

What do you mean by locking concept in oracle ? Explain.

e &1 wwemEd 10
Explain the following :
(@) Structure of PL/SQL

(i1) Procedure and function.



